Subject: demand for FP satisfied - modern methods - calculate indicator
Posted by geoK on Fri, 10 Aug 2018 12:24:16 GMT

View Forum Message <> Reply to Message

Hello! | am trying to calculate the indicator:

"Fpnadmwpdm: Percentage of demand for family planning satisfied by modern methods"
for Congo, DR - 2013, and | can not get the same % as in statcompiler. Would it be please
possible to have advice on what exact variables have you used, and possibly get a code in

STATA (or any other software), please?

Thanks!
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